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LHEFEXE A 5(14,900 | 74,500 | 1A/BX5H=5
2. BEHEHHE kARY=1. AxkRAY
R B 150KVA & 7| 9,910 69,370 | 5Ax1.4 =7
FRIF VY — & 7 82 574 ”
BR YL A T| 186 1, 302 %
RKETH K H T| 154 5, 278 ”
A T H & T| 4,284 29,988 ”
3. M. HES
@ (mTH) Kg| 78 231 18,018 | WR—12%
BHEL b F10T, L=65 | 24 137 3, 288
F10T, L=70 |12 141 1,692
F10T, L=80 A 24 149 3,576
2kt LR VHET - kg| 5| L7ao| 8700 | LT 1208/0-20
2K BEBE L8+ vHERN i 1 11,650 | 5kg 4
HHE BEH - HERE| X 1 31,326 | HEAHBR DY
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HHl- 1

EHETHE

A= 07  PXMERERY Xy bORARE

% B B BA | % BB M o W

1. EgEAHE
BREER A 28, 800 57,600 | 1A/HX 28=2
BREKRT A 27,200 | 108,800 | 2A/Hx 2H=4
LEEEE A 14, 900 29,800 | 1A/BX 20=2

2. BEENSE ERB%=1. AxERAY
RER 150KVA & 2.8 | 9,910 27,748 | 20x1.4=2.8
FRIY Y — & 2.8 82 230 ”
BLFY L &l 2.8 186 521 ”
R{TE XH| 2.8 754 2,111 ”
AfHTE F=YIE AN RHE| 2.8 | 4,284 11,995 ”

3. M HER
#|H (mI#) Keg| 10 231 2,310 | AR -125
E=WIE F10T, L=65 A | 12 137 1, 644 |
MR BlEM - HERT | R 1 9,810 | BEEAHE DO
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TH -1 ERTHR
AR-675: PXHOMAOER L T 77 JORREVAE
% # | 8 BB K B|M G| e @ #
1. HEANR
fER G A 2| 28,800 57,600 | 1A/Ax28=2
BREKRT A 6| 27,200 163,200 | 3A/HX2H=6
| EEIEXR A 2| 14,900 29.800 | 1A/Hx2H=2
2. MBENS REE=1. AXENDY
RER 150KVA =] 2.8 9,910 21, 748 28x1.4 =2.8
HABER A H 2.8 379 1, 061 ”
TFTRIY =) 2.8 82 230 ”
B FY I a 2.8 186 921 ”
k& TH XH 2.8 754 2,111 ”
Ky TH =1V b H A H 2.8 | 4,284 11, 995 ”
VX—Favws | 1.5t a 9.6 89 498 2Hx1.4 X2 =5.6
3. MH. MRS
e CmI#) Kg 3 231 693 | WER—12%
®mAHRIL b F10T, L=60, ¥20 7:N o 98 490
HM B x| 1 12,530 | B8 AHB D5
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HHl— 1

EETHH

AR T15 HEXAD Y 2 -BEVS VORERE (2FH)

% Pr|H B BN | B B B M| £ B | &
1. BEEAHGE
R 1 1 Al 17|28 s00| 489,600 |1 A/E x17E=17
BREHT Al 68| 27,200 1,849,600 | 4 A/H x17H =68
BREET Al 17| an200] 462,400 |1 A8 x17E =17
EfEE Al 17| 14,900] 253.300 |1 A/8 x17H=17
2. MBENS BIEY=1. AXRRRY
S 150KVA &l 23.8| 9.910| 235858 |170x1.4 =23.8
avFed— | TUULMES | & 23.8| 2.920| 69,496 ”
B 500A a| .8 56| 10,853 ”
# % 38 B xH| 23.8| 3719 9,020 ”
Y54y - &l .8 82| 195 ”
g TH XH| 23.8] 1.767| 42,055 ”
ERTH XH| 23.8| 754| 17,945 ”
EHHTE | SAKVEE | KR8] 23.8| 4284 101,959 ”
MES ¢ w+ | 100t87-4-x 288 | & | 23.8| 7,080| 168,504 ”
FUAH— 30Kgi% &l 41.6| 365| 17374 | L7Hx1.4 x2 -4T.6
L—Fay s | 1.5t a| 4160 89| 423 ”
RN HI00 107 ®H| 23.8| 90| 2142 ”
190 Med- | 7L — F®%cm | & | 23.8| 623| 14,827 ”
AYRIEF | 115 X390 &l 23.8| 59| 1404 ”
3. ME. HER
WH ONTH) |KZY7547 v k| Kg| 256 | 453| 115,968 | AR —13%
EAEN b F10T, L=90 £| 36| 157 5652
BREEE I b m? 0.066 371,250 | 24,503
A BIEM - HESE = 1 152,745 | EEAHE D5%
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HHl— 1

EHETHH

-84 : TERO LR L ARRKE (2 HH)

% B8 B B K BB M| e W] |
1. BEEAHH
BRIES A 17| 28, 800 489,600 |1 A/H X1TH=1T7
BRERT A 68 | 27,200 | 1,849,600 |4 A/H X1TH =68
BREET A 17| 27, 200 462,400 |1 A/B xX1TH=1T
HEfE¥XR A 17 | 14, 900 253,300 | 1 A/BE xX1TH =117
2. REEME RERH=1. 4xKRAK
HER 150KVA a 23.8 | 9,910 235,858 | 17Ax1.4 =23.8
ATy Y- XY f135PS =) 23.8 | 2,920 69, 496 ”
33 500A a 23.8 456 10, 853 ”
HXEBER A H 23. 8 319 9,020 ”
7340 - =) 23.8 82 1,952 ”
BEITIR XH 23.8 | 1,767 42, 055 ”
kExITE X H 23.8 754 17, 945 ”
AFEHITHE &RV A XH 23.8 | 4,284 101, 959 ”
WMHEY ¥ v F 100t#77 424 289 a 23.8 | 1,080 168, 504 ”
A 30Kg i =} 47.6 365 17,374 | 17Hx1.4 x2 =47.6
VR =TFay 7 |15t =} 47.6 89 4, 236 ”
¥R H100 10& XH 23. 8 90 2, 142 ”
379 -Med- 7V — F#20cm 5] 23.8 623 14, 8217 ”
Ny RIFH— | 4115 x390 =) 23.8 59 1, 404 7
3. B, HER
@y (mIH) |KZFT757 v b Kg 206 453 115,968 | NER—13%
BRIV b F10T, L=90 7N 36 157 9, 652
XA 100t yo -3 — Kg | 1,170 1,094 | 1, 280, 000 21843
BREREENI ) m°> 0.092 [371, 250 34, 155
M BIE#H - HEME X 1 152, 745 | B AHE DO
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Hpl-1 EHELEE
AR-9 : 2lEBARE
% bR | B By (% BRIH | & ||
TBRE 2L v of | 100.4| 6,069 609,328 | HER—9 — 1
” 3@mruvy of | 803.2| 4,847| 3,893,110 | A:R—9 — 2
” ' A@rL of | 100.4 | 1,827 183,431 | N8R—9 — 3
the ERBE of | 1,004.0f 2,066 | 2,074,264 | A:R—9—4
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HHl-1

HR-9—1 : FRE% (2F/r L) 1000t 24 b B 48
£ | B ¥ BA (% BB M B M %
1. BEASR ’ A%
SR EE A|  3.8(28,800 109,440 | 0.95x 4 [E=3. 8
BREET 3FEHL Y Al 10.422,300] 231,920
% F®3)E Al 5.7(22,300| 127,110 1.9x3 E=5.7
2. BEENS
B 150KVA &) 3.75| 9.910( 37,163 [0 4/84 5. 1/8=2.68
yUvIE XA| 3.75| 648 2, 430 ”
BT H KE| 3.75| 800 3, 000 ”
3. HHE
T B9V 2 #RA v} kg| 30 965 28, 950
o ERTEFURIE | ke| 13 | 1155 15, 015
% EHTRFOBIE | ke| 20 | 1,260 25, 200
RMARERE | BIEM - HESE| X 1 15,557 | EEETEHE D6X
LRIk 3 BIgEH - HERE | R 1 11, 134 | (ERI3R+ 2ER)04%
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Hel-1

M- 9 -2 : Tl (387 L) 1000324 b B4f
% i B BA BB M B %
1. BEEAHE
R Al s.8|2ss00| 108440 0.95%4 EI=3.8
BRBET | 3@rLY Al 6.3[22.300| 140,490
% T#3E Al 5.7[22300| 127.110( 1.9x3 E=5.7
2. REBENE
ST 150KVA &) 28| o900 2748|530 1/6%20
yUUTR XE| 28 | 648 L8| -
BETH KA | 28 | 800 2200 |
3. HB%
Tk ZHTAF ORI | ke| 13 | L155| 15,015
, EHETAF OB ke| 13 | L1s5| 15,015
% T RF M| ke| 20 | L260| 25,200
RUFARERR | 5IEM - HERE | X 1 10,071 | EEETHE D6
LS RCL 3 HiEH - HELE | X 1 10,577 | (REISR+ RHE)OAYX
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HH|- T

HER—9 -3 : TBBRE (4B L Y) 100 24 » Biff
& R | Bh | % B (B W %
1. EEAHGR
R IR Al 1928800 54720 0.95%2 EI=1.9
BREST | 4ErLY Al 1922300 42370
’ TR1E Al 19(22.300| - 42.370| 1.9x1 E<19
2. BEENF
sRM 150KVA & 0.89] 9910 8,820 | - on0*HL. 9/6-0.683
rUVTH XA | 0.8 648 513  #
BETH XE | 0.8 800 nz|
3. HHF
gy gepe o F oS | ke| 20 | 1.260| 25,200
RMFABEMR | BIEH - HERTF | R 1 4,184 | HE T HRO6Y
L AL 3 BlEM - HEEmE | R 1 3. 797 | (BEI%E+ BRR)O4%
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HE -1

HNR—9—4 : th« LBBRE 100t 24 b Bifff
% B | B O BA | BRI B M B
1. EEAGE
BRI R A 1.9 28, 800 54,7201 0.95%2 M=1.9
BRBET hRRE1E A 2.1 22, 300 46,830 | 2.1 x1 [E=2.1
” LBRRE1E A 2.11 22,300 46,830 | 2.1 x1 [[=2.1
2. BRBENSE
2.1/642.1/6=0.7
FEE B 150KVA a 0.98| 9.610 9. 712 | "0 1 1 4=0. 98
BRETH A H 0.98 784 768 ”
3. HHF
th 2 R RY VY URlE kg 14 1, 365 19,110
LEBBRH e ARV A ] kg 12 1, 755 21, 060
BE2ARIRR A - HELS B2 1 7,542 | (EEISR+ BRRD04X
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P -1

EHETHE

AR-107%: HBlEEERE

& i)

3] ¥ | Bibr

R\ B &

1. MRS TA

[ (S«X+S1

X1

m+ (NI} +N2)Y] XA

S:ERER 300.S1 :BHfK 315

X RERRBAN 3 . X1 -RERREAK 2

w: 1THCORBERER 1. N1 -4

UERSHER (0. 103, N2 RARESHEHY

0.071

Y ERGRIEE 27, 200CH/0

~ A Eig

ARAXER= 6. 3X

50=315 d

[(300 x3 +315 x2)=+1

+ (0. 103+ 0. 071D x 27, 200]

315

2. WEREREIA ( 60X> /m+0.024 Y) %A,
X, :BREFEEAK . 8| IIBTORBEMEK 1
Y:EEBRIEE 27, 20008/A) « A, | MIANERBERX2C) 4. 9X50%2 =490
(60 x1/1 +0.024 x<27,1200) x490 =

3. y-MEHETH [S«X4s + (N1 +N2DY] XxA+1[30 X4 +0.003 Y0.002 Y] XA,

S : HEMEE 145 X,

B THEARK

N1 -BufZ588K 0.014 N2

:RR{ERSHIRE 0. 010

Y ERGRIEE 27, 200CA/0)

A BT AEMmME éﬂlﬁﬁxlﬂ\ ER = 6.3x50=315 1

1=

A : PANERERRXO(D) 4 9X50x2 =490

(145 x1 + (0.014 +0

010 ) x 27, 200]

x 315

+[30 x1 +(0.003+0.0

02) X 27,12001 x 490
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LV R | e
3 mo, o
WER_ 1 173 ' Qﬁﬁﬁg (&) REFZE~BEOBMIBCcHMURHEI@EE L THE (608)

£ B wmIBEN K BB H) S W %
1. BEEAGE
BB A 120 | 14,900 | 1, 788, 000 2A/0 X608 =120
2. BMBENFE RRER=1. AxERAYK
THEERRK a 2| 20,000 40,000 | IEA2H
ERTFHTER =} 168 210 35, 280 | 60HX1. 4 x 2=168
ERIHHERR =} 34 110 9,240 | 60Ax1.4 =84
ERMEYERE B H 168 110 18,480 | 60Hx1.4 X 2=168
H AT KR =} 168 160 26, 830 ”
HZ7—a—-v BRE. vxfMf AKH | 1,680 35 58,800 | 60Ax1.4 x20%4=1680
REAT =) 420 100 42,000 | 60Ax1.4 X35 =420
Ny —F ARIL.2 X1.8 a 20 | 1,800 36,000 | A=E
B IR 5KVA, O~ FH & H 84| 1,800 151,200 | 60Ax1.4 =34
FT w7 2TH aH 84 4,800 403, 200 ”
3. M. HEEM
Bl Z 504 95 47,880 | 60Ax1.4 x156=1260
EE 5 HIEM - FHERT| KX 1 89,400 | EEAHE DY
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HH -1 0 THBNGE
AR-12%5: mWMIH 100Kg= b
% ik ¥ IHBAM (& B |8 M W | 5
1 #8 INGT
) Kg 110 100 11, 000 | 100Kg@1. 1
2 BifE INat
E#&THE A 0.2 | 14,600 2,920 | 100Kg@ 0.002A/Kg
“RITBHR BE#EFHED1I26% | K 1 3, 650
B E Kg 100 12 1, 200
THBEE Kg 100 18 1, 860
3 THEHR /Nt
THEBER 12. 5% E= 1 2,971 | 20,5708 0.125

(231 A/Kg)
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HEH -1 THBEE

WR—135: &EEEVH 100Kg= v
& PR B B HAL | % BB | %
1. #8 INGT
#H Kg 110 100 11, 000 | 100Kg@1. 1
2 BifE INEE
EHETHH A 0.8 14,600 11, 680 | 100Kg@0. 008 (A/Kg)
“RIBHE BB B D125% - 1 14, 600
BIE - Kg 100 12 1, 200
THBES Kg 100 18 1, 800
3 IHEH% Nat
IHEHER 12. 5% E= 1 5,035 | 40,2808 0.125

(453 B/Kg)
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